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goooodg
cbbbobooooooobbbobbboudoogobbbbobouoooooon
goobobobbodooooobbobbbodooumobooooooono
gboobgoboboobon
gobbobuogoobbboooobbboooobobbooooboboon
Step30 0000000 ODOOOCOODOOOOOOOOOO PreAmpd OO0
O0000DO0O0O0OO0O0o0oOHvVODOUODOO PreAmp00QO000OO0OCODOOO
OOo0oo0oobooDOoOobooO0OobO0o0oDOooDOoobDbod PreAmpd0nogonQ
ggboobouoogooo
Stepd000000D0O0OOCOOOOODOOOOOODOOOOOOORVOOOOO
gogobobboboboboooooobbobobbbouoooooobbobbouago
gbooooooobbbbbbuodooooooobobbbbobbboadao
goboobgoobobooavbooboboboobooobooboobooobon
O0O000O0O00oDOoOO0ooooOBGOOOODOOODOOODO Step2030 0
ggboboogoboboooon
gboooboobbooboobbobobooboobbooobuoobbo
ggbboobuogobboboogooboo
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s OO

5.1 U0OUOOOOOON

5.1.1 UU0Oboooooobobobuooooobod

#include <stdio.h>
#include <sys/types.h>
#include <sys/socket.h>
#include <netdb.h>
#include <string.h>
#include <stdio.h>
#include <sys/stat.h>
#include <fcntl.h>
#include <stdio.h>
#include <time.h>

int init_connect(char *,int );

int url_encode(char *, char *, int);

int setStopAfter(char *,char *);

int getStopAfter(char *,char *, int );

int setSingleSequence(char *);

int isSingleSequence(char *);

int setRunStop(char *);

int isRunStop(char *);

int setState(char *,char *);

int getState(char *,char *, int );

int setStateRun(char *);

int isStateRun(char *);

int setStateStop(char *);

int isStateStop(char *);

int sendCommand(char *,char *, char *, int );
int getWaveform(char *,int , char *, int ,int);
int strip_http_headers(char *, int);
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int debug=0;

int init_connect(char *remotehostname,int port){
int sock;
static struct sockaddr_in sock_name;

struct hostent hostentstruct; /* Storage for hostent data.
struct hostent *hostentptr; /* Pointer to hostent data.
static char hostname[256]; /* Name of local host.
int retval; /* helpful for debugging */
if ((sock = socket (AF_INET, SOCK_STREAM, 0)) == -1) {

perror( "socket");

return -1;
+

if ((hostentptr = gethostbyname (remotehostname)) == NULL) {
perror( "gethostbyname");

close(sock);
return -1;
}

hostentstruct = *hostentptr;

sock_name.sin_family = hostentstruct.h_addrtype;
sock_name.sin_port = htons(port);

* ((struct in_addr *) hostentstruct.h_addr);

sock_name.sin_addr

retval = connect(sock, (struct sockaddr *) (&sock_name), sizeof (sock_name));

if (retval != 0) {
perror("connect") ;

close(sock);
return -1;
+

return sock;

int url_encode(char *src, char *dst, int len){
int 1i;
int srclen = strlen(src);
if (len < srclenx*3){

return -1; /* too short to store everything */
}
for(i = 0 ; i < srclen ; i++){

snprintf ((dst+(i*3)),4,"%%%.2x" ,src[i]);
}
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return (srclenx3);

int setStopAfter(char *hostname,char *strMode)
{
int ret;
char cmd_str[1024]="ACQuire:STOPAfter \0";
if (strlen(strMode) > 1000){
/** return NULL;x*x*/
return O;
}
strncat(cmd_str, strMode, 1024);

ret = sendCommand (hostname, cmd_str, NULL, 0);

return ret;

int getStopAfter(char *hostname, char *buf, int maxlen)
{
int ret;
char cmd_str[1024]="ACQuire:STOPAfter?\0";
ret = sendCommand(hostname, cmd_str, buf, maxlen);
return ret;

int setSingleSequence(char *hostname)
{
int ret;
ret = setStopAfter(hostname, "SEQuence\0");

int isSingleSequence(char *hostname)
{
int ret;
char status[1024];
int 1len = 1024;
ret = getStopAfter(hostname, status, len);
if (strstr(status,"SEQ") == status){
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printf("In the single SEQ.\n");
return 1;

Yelseq{
printf("Not in the single SEQ.\n");
return O;

}

int setRunStop(char *hostname)
{

int ret;
ret = setStopAfter(hostname, "RUNSTop\0");

return ret;

int isRunStop(char *hostname)
{

int ret;
char status[1024];
int 1len = 1024;

ret = getStopAfter(hostname, status, len);

if (strstr(status,"RUNSTop") != status){
return 1;

}else
return O;

}

int setState(char *hostname, char *state)
{

int ret;
char cmd_str[1024]="ACQuire:STATE \0";

if (strlen(state) > 1000){
/**x return NULL;**/
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return O;

}
strncat(cmd_str, state, 1024);
ret = sendCommand(hostname, cmd_str, NULL, O);

return ret;

int
getState(char *hostname, char *buf, int maxlen)
{

int ret;
char cmd_str[1024]="ACQuire:STATE?\0";

ret = sendCommand(hostname, cmd_str, buf, maxlen);

return ret;

int
setStateRun(char *hostname)
{

int ret;
ret = setState(hostname, "RUN");

return ret;

int
isStateRun(char *hostname)
{

int ret;

char status[1024];

int 1len = 1024;
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ret = getState(hostname, status, len);

if ( (strstr(status,"1") == status)
| | (strstr(status,"RUN") == status)
| | (strstr(status,"ON") == status)){
return 1;
}else
return O;
}
int

setStateStop(char *hostname)

{
int ret;
ret = setState(hostname, "STOP");
return ret;

int
isStateStop(char *hostname)
{

int ret;

char status[1024];

int 1len = 1024;

ret = getState(hostname, status, len);

if ( (strstr(status,"0") == status)
| | (strstr(status,"STOP") == status)
| | (strstr(status,"OFF") == status)){
return 1;
}else
return O;
}
int

sendCommand (char *hostname,char *cmd_str, char *buf, int maxlen)
{
int fd;
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char url_string[4096];
char tmp_str[4096];
char ack=’\n’;

char *msg,*lasts;

int ret,len;

int flag;

#define FALSE O
#tdefine TRUE 1

fd = init_connect (hostname,80);

ret = url_encode(cmd_str, tmp_str, 4000);

snprintf (url_string,4096,"GET /7command=%s HTTP/1.1\n",tmp_str);
ret = send(fd,url_string,strlen(url_string),0);

if (ret < 0){
perror("Failed to send URL request.");

return ret;

}

memset (tmp_str,0,sizeof (tmp_str));
ret = recv(fd,tmp_str,4096,0);

len = O;
if (strstr(tmp_str,"Continue") != NULL){
send (fd,&ack,1,0);
while( (4096-len) > 0){
ret = recv(fd,tmp_str+len,4096-1len,0);
if (ret <=0 ) break;
len += ret;

}
flag = FALSE;

msg = strtok_r(tmp_str,"\r\n",&lasts);
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while(flag == FALSE){
if (
| | (strstr(msg,"Date:")

msg)

| | (strlen(msg) = 0)){

(strstr(msg,"HTTP/1.1") == msg)

msg = strtok_r(NULL,"\r\n",&lasts);

if (msg == NULL){
flag = TRUE;
ret = 0;
}
Yelseq

flag

TRUE;
strlen(msg) ;

ret

if (ret > maxlen){

len = maxlen;
Yelseq{

len = ret;
}

if (len >0){
memcpy (buf ,msg,len) ;

}

shutdown(£fd,2);

close(fd);

return ret;

int getWaveform(char *hostname,int ch,

{

int ret=0;

int len=0;

int fd;

int 1i;

char ack=’\n’;

int content_length=0;
#tdefine NCMD 6
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#define CMDLEN 256
char command_string[NCMD*CMDLEN] ;
char command_strings[NCMD] [CMDLEN]
= {"POST /getwmf.isf HTTP/1.1\r\n\0",
"Host:\0"
"Connection: close\r\n\r\n",
"command=select:ch’%d on\r\n\0",
"command=save:waveform:fileformat internall\r\n\0",
"wfmsend=Get\r\n\0"};
memset (command_string,0,sizeof (command_string)) ;
fd = init_connect (hostname,80);
if (debug) fprintf (stderr, "fd=%d\n",fd) ;
snprintf (command_strings[1],256,"Host: %s\r\n\0",hostname);
snprintf (command_strings[3],256, "command=select:CH%d on\r\n\0",ch);
if (outmode)
snprintf (command_strings[4],256, "command=save:waveform:fileformat spreadsheet\r\:
else
snprintf (command_strings[4],256,"command=save:waveform:fileformat internall\r\n\O
snprintf (command_strings[5],256, "wfmsend=Get\r\n\0") ;

for(i = 3 ; i < NCMD ; i++){
content_length+=strlen(command_strings[i]);

}

snprintf (command_strings[2],256,"Connection: close\r\n\r\n");

snprintf (command_string,sizeof (command_string) ,"%s%skskshs%hs",command_strings[0]
if (debug) fprintf (stderr,"%s",command_string) ;

ret = send(fd,command_string,strlen(command_string),0);
if (ret < 0){

perror("Failed to send URL request.");

return ret;
}
else if (debug) fprintf(stderr,"communication with the host: OK\n");
if (debug) fprintf(stderr,"maxlen=%d len=/d\n",maxlen,len);
while( (maxlen-len) > 0){

ret = recv(fd,buf+len,maxlen-len,0);

if (ret <=0 ) break;

if (strstr(buf+len,"Continue") != NULL){

37



send (fd,&ack,1,0);
}
len += ret;
}
if (ret < 0){
perror("Failed to retrive waveform");
return ret;
+
if (debug) fprintf(stderr,"Received length: %d\n",len);
ret = strip_http_headers(buf,len);
if (debug) fprintf(stderr,"Data length: %d\n",ret);
shutdown (£fd,?2) ;
close(fd);
return ret;

}
int
strip_http_headers(char *buf, int len)
{
char *data_ptr = buf;
int data_len = len;

char *ctmp,*lasts;
char *httpmsgs[2]={NULL,NULL};
httpmsgs[0] = strstr(data_ptr,"HTTP/1.1 200 OK");
httpmsgs[1] = strstr(data_ptr,"HTTP/1.1 100 Continue");
if (httpmsgs[0] == NULL){
fprintf (stderr,"There seems to be some trouble in the response.\n");
}
data_ptr = (httpmsgs[0]>httpmsgs[1])7httpmsgs[0] :httpmsgs[1];
data_ptr = strstr(data_ptr,"\r\n\r\n");
data_ptr+=4;
data_len -= (data_ptr-buf);
memmove (buf ,data_ptr,data_len);

return data_len;

int main(int argc, char **argv)

{
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int ret;

int £d4[3];

int i,thisch;

int num_event =1;

int n_channel = 4;

int outmode =0;

char output_fname[1024]="TDS";
char output_fname_head[1024]="TDS";
char hostname [256]="TDS\0";
char str[1000];

char buf[1024%1024] ;

fprintf (stderr, "**x*xread_TDS***\n") ;

fprintf (stderr,"read_TDS ch(1-4) num [out_filename] [1/0 (output format 1 for as
/**commad line parameters**/

if (arge>1) num_event=atoi(argv[1]);

if (arge>2) n_channel=atoi(argv[2]);

if (argce>3) sprintf (output_fname_head,"s",argv[3]);

if (argc>4) outmode=atoi(argv[4]);

if (argce>5) strcpy (hostname,argv[5]);

fprintf (stderr,"num of events=/d\n",num_event);

fprintf (stderr,"num of channels=Y%d\n",n_channel);

if (outmode)

fprintf (stderr, "output file=Ys_*_ch?.csv (ascii mode)\n",output_fname_head);
else

fprintf (stderr,"output file=Ys_*_ch?.tds (TDS internal mode)\n",output_fname_hea

fprintf (stderr, "hostname=/s\n\n" ,hostname) ;

/**initializex*/
if (debug) printf("Set the state to STOP.\n");
ret = setStateStop(hostname);
if (debug) printf("Waiting for the state to be STOPPED\n");
ret = 0;
while (ret == 0){
// usleep(0);
ret = isStateStop(hostname);
}
if (debug) printf("Set the state to single seq.\n");

39



ret = setSingleSequence (hostname);

/**data loop*x/
int start = time(0);
for (i =0 ; i < num_event ; i++){
fprintf (stderr,"event ’%d/%d\r",i+1,num_event);

if (debug)printf ("Start the run\n");
ret = setStateRun(hostname);
if (debug)printf ("Waiting for the trigger\n");
if (debug)printf (" (Waiting for the state to be STOPPED)\n");
ret = isStateStop(hostname);
while (ret == 0){
// usleep(0);
ret = isStateStop(hostname);
if (debug) printf(".");
fflush(stdout);
}
if (debug) printf ("\n");
if (debug) printf("Retriving the waveform.\r");

for(thisch=0;thisch<n_channel;thisch++){
if (debug) fprintf (stderr,"%d",thisch);
if (outmode)
sprintf (output_fname,"%s_%d_chid.cvs",output_fname_head,i,thisch+1);

else

sprintf (output_fname,"%s_%d_chid.tds",output_fname_head,i,thisch+1);
£d[0] = open(output_fname,0_RDWR | O_CREAT,0644);
if (£d[0] < 0){

perror("Failed to open output file.");

exit(1) ;
}
ret = getWaveform(hostname, thisch+1l, buf, 1024%1024,outmode) ;
ret = write(£d4[0] ,buf,ret);
}

if (debug) fprintf (stderr,"%s ",buf);

if (debug) fprintf (stderr,"event number = %d\n",i+1);
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if (ret < 0){
perror("Failed to dump data to disk..");
close(£d[0]);
exit(1);
}
if (debug) fprintf (stderr,"clsing %d\n",i);
close(£d[0]);

if (i == 9) { int goon = time(0);
int ten = difftime(goon,start);
fprintf (stderr, "\n%dsec at ’%d events\n",ten,i+1);
}
if (1%100 == 99){ int goon = time(0);
int hundret = difftime(goon,start);
fprintf (stderr, "\nldsec at ’%d events\n",hundret,i+1);
}

}
int end = time(0);
int diff = difftime(end,start);
fprintf (stderr,"\ndone!!! . \nworktime is %d\n",diff);

exit (0);

5.1.2 0O0OO0O0OOO0OO0OO0OODODOOO

gboog20000007convert.ecxx’00O0OOO

#include <stdio.h>
#include <stdlib.h>
#include "COscillo.h"
#include <TGraph.h>
#include <TFile.h>
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int main(int argc, char *argv[]){
int n_event = 1;
int n_channel=4;
char input_fname[1024]="TDS";

fprintf (stderr, "*x*xconvert**x\n") ;
fprintf (stderr,"convert ch(1-4) num [in_filename(head)]\n");
/**commad line parameters*/

if (arge>1) n_event=atoi(argv[1]);
if (arge>2) n_channel=atoi(argv[2]);
if (argce>3) sprintf (input_fname, "%s",argv[3]);

fprintf (stderr,"num of events:%d\n",n_event);
fprintf (stderr,"num of channel:’%d\n",n_channel);
fprintf (stderr,"input file:%s_*_ch?.tds\n",input_fname);

fprintf (stderr, "output file:%s_*_ch?.root\n",input_fname);

COscillo oscillo("dummy");
TGraph gr;
oscillo.ConvertToTGraph(input_fname, n_event, n_channel, &gr);
//oscillo.ConvertToTGraph(argv[3], &gr);
oscillo.Close();
fprintf (stderr, "\ndone.\n") ;
// TFile file("out.root", "recreate");
//gr .Write("graph");
//file.Close();
return O;

O0007COscilloh”0 000

#ifndef COscillo_H
#define COcsillo_H

#include <stdio.h>
#include <stdlib.h>
#include <string.h>

#include <fcntl.h>
#include <sys/types.h>

#include <sys/stat.h>
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#include <unistd.h>

#include "TSocket.h"
#include "TString.h"
#include "TGraph.h"
#include "TFile.h"

class COscillo

{

public:
COscillo(const char* h, int p=80){host=h; port=p;}
“CO0scillo(D{Close();}

// bool GetWaveForm(const charx file);

bool ConvertToTGraph(const char* file, int n_event,int n_channel,TGraph *gr);
// bool GetWaveFormByTGraph(TGraph *gr);

void Close(){};

private:
const char* host;

int port;
int iNumPoints; /* The number of points in the array  */
double dXIncr; /* Delta X between points */

double dYMult;
double dYOff;
double dPtoff;
double dYZero;

// void SkipHeader (FILE*x fp);

bool GetParamDouble(char* buf, char* pat, double *dValue);
bool GetParamInteger(char* buf, char* pat, int *iValue);
bool AdvanceToData(int iHandle);

bool ScaledSimple2 (int iInFileHandle, TGraph *gr);

/**void COscillo: :SkipHeader (FILEx fp)
{

int line_size = 0;
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while(true){
switch(fgetc(fp)){
case ’\r’:
break;
case ’\n’:
if (line_size == 0){
return;
Yelseq{
line_size = 0;
break;
}
default:
line_size++;

break;

}
*x/

VAL
bool COscillo: :GetWaveForm(const char* file)

{
TSocket socket(host, port);

TString str = "POST /getwmf.isf HTTP/1.1\r\n";

str += "Host: "; str+=host; str+="\r\n";

str += "Connection: close\r\n";

str += "\r\n";

str += "command=select:chl on\r\n";

str += "command=save:waveform:fileformat intermallr\n";

str += "wfmsend=Get\r\n";
socket.SendRaw(str.Data(), str.Length());

TString tmpFile(file);
tmpFile.Append ("~ ") ;

FILEx fp = fopen(tmpFile.Data(), "wb");
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const int size = 5120;
char buf[size];
int len = socket.RecvRaw(buf, size);

while(len>0){
fwrite(buf, sizeof(char), len, fp);
len = socket.RecvRaw(buf, size);

}

socket.Close();

fclose(fp);

char cHead[9];
int iRes;
FILEx fp_in = fopen(tmpFile, "rb");

while(true){
fscanf (fp_in, "%s %d", cHead, &iRes);
if (iRes == 100){
this->SkipHeader (fp_in);
}else if (iRes >= 200 && iRes < 300){
this->SkipHeader (fp_in);
break;
Yelseq{
printf ("error, unkown responce code, %s %d\n", cHead, iRes);

return false;

FILEx fp_out = fopen(file, "wb");

len = fread(buf, sizeof(char), size, fp_in);
while(len > O || !feof(fp_in)){

furite(buf, sizeof(char), len, fp_out);

len = fread(buf, sizeof(char), size, fp_in);
+
fclose(fp_in);
fclose(fp_out);

remove (tmpFile.Data());
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return true;
}
*% /

bool COscillo::GetParamDouble(char* buf, charx pat, double *dValue)
{

char* found = strstr(buf, pat);

if (found == NULL) return false;

found += strlen(pat);

*dValue = atof (found);

return true;

bool COscillo::GetParamInteger(char* buf, char* pat, int *iValue)
{

char* found = strstr(buf, pat);

if (found == NULL) return false;

found += strlen(pat);

*iValue = atoi(found);

return true;

bool COscillo::AdvanceToData(int iHandle)
{

char c;

int iStat;

int iNumDigits;

/* Find the ’#’ the marks the binary field */
c=""7;
while (c !'= *#°){
iStat = read (iHandle, &c, 1);
if (iStat != 1){
printf ("*x** Error - reading the input file.\n");

return false;
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/* The value in variable ’c’ is the ASCII for the number of digits
to skip over.

*/

iStat = read (iHandle, &c, 1);

if (istat != 1){
printf ("**% Error - reading the input file.\n");

return false;

iNumDigits = (int) (c - ’07);
while (iNumDigits > 0){
iStat = read (iHandle, &c, 1);
if (iStat !'= 1){
printf ("*x** Error - reading the input file.\n");
return false;
}
-—iNumDigits;
}

return true;

bool COscillo::ScaledSimple2 (int iInFileHandle, TGraph *gr)
{
int 1LcvPoint; /* Used to step through the points */
char c[2]; /* Buffer to read the point */
double dPoint;
double dTime;
int iStat;

for (lLcvPoint = 0; 1lLcvPoint < iNumPoints; 1lLcvPoint++){
iStat = read (iInFileHandle, c, 2);
if (iStat !'= 2){
printf ("*x** Error - read data points.\n");

return false;

short sPoint = (c[1]&0xFF) | ((c[0]&O0xFF)<<8);
dPoint = dYZero + dYMult * ((double)sPoint - dYOff);
dTime = dXIncr * ((double) l1lLcvPoint - dPtoff);
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//iStat = fprintf (fOutFile, "}lg,%g\n", dTime, dPoint);
//if (iStat < 0){
// printf ("x*x* Error - writing output file.\n");
// return false;
//}
gr->SetPoint (1LcvPoint, dTime, dPoint);
+

return true;

bool COscillo::ConvertToTGraph(const char* file, int n_event,int n_channel,TGraph
{

char infname[128],outfname[128];

int iBit_NR = 16;

int debug=0;

int index,ch,start;

fprintf (stderr,"start number??");
scanf ("%d" ,&start) ;

for(index=start;index<n_event;index++){
fprintf (stderr,"converting %d / %d\r",index+1,n_event);
for(ch=0;ch<n_channel;ch++){
sprintf (infname, "%s_%d_ch’d.tds",file,index,ch+1);
int iHandle = open (infname, O_RDONLY);
// get header;
char buf[512];
read(iHandle, buf, 512);
buf [511] = °\0’;

sprintf (outfname, "%s_%d_chid.root",file,index,ch+1);
if (debug) fprintf (stderr, "converting %s to %s.",infname,outfname);

lseek (iHandle, OL, SEEK_SET);
if (debug) fprintf (stderr,".");
//bool bEnvelop = false; /* True if this is an envelop */
if (!this->GetParamInteger (buf, "NR_PT", &iNumPoints)){

if (debug) fprintf (stderr, "NumPoints %d\n", iNumPoints);

return false;
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}

if (1this->GetParamDouble(buf, "XINCR", &dXIncr)) return false;
//printf ("XIncr %g\n", dXIncr);

if (1this->GetParamDouble(buf, "YMULT", &dYMult)) return false;
//printf ("YMult %g\n", dYMult);

if (1this->GetParamDouble (buf, "YOFF", &dYOff)) return false;
//printf ("YOff %g\n", dYOff);

if (!this->GetParamDouble (buf, "PT_OFF", &dPtoff)) return false;
//printf ("PT_0ff %g\n", dPtoff);

if (1this->GetParamDouble (buf, "YZERQO", &dYZero)) return false;
//printf ("YZero %g\n", dYZero);

if (!this->GetParamInteger (buf, "BIT_NR", &iBit_NR)) return false;
//printf ("Bit %d\n", iBit_NR);

// move to data start point

if ('this->AdvanceToData(iHandle)) return false;

if (debug) fprintf (stderr, "numofpoints=%d\n", iNumPoints);
//convert data

//TGraph gr(iNumPoints) ;

if (debug) fprintf (stderr, "iBIT=%d\n",iBit_NR);

gr->Set (iNumPoints) ;

switch(iBit_NR){
case 8:
//ScaledSimple (iInFileHandle, &gr);
break;
case 16:
this->ScaledSimple2 (iHandle, gr);
break;
default:
break;
}
TFile tfile(outfname, "RECREATE");
(xgr) .Write("graph");
tfile.Close();
if (debug) fprintf (stderr, "done") ;
close(iHandle);

b
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}

return true;

#endif // COcsillo_H

5.1.3 000000 HeightU Area00000O0OO0OOOO
{

#include <fstream.h>
gROOT->Reset () ;
int n,j,l,m,r;
char fn[30];
FILE *fp;
double max[100000],th,areal[100000] ,base;
double *xv;

printf("O000000O0O0O00OOM;
scanf ("%d",&1) ;
printf("O000000O0O0O00OOM;
scanf ("%d4",&m) ;

fp=fopen("alp_hist.dat","a");

for(int j=1;j<m;j++) {
sprintf (fn, "man_%d_chl.root",j);
TFile f1(fn);
TGraph wf1l=(TGraph) f1.Get("graph");
v=wfl.GetY();
base = 0;

for(int r=0;r<999;r++){

base += v[r];

th = (base / 1000) + 0.2 ;
for(int i=0;i<10000;i++){
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if (v[il>th)areal[j] += (v[i] - th);
if(v[lil>max[j])max[jl=v[i];

+
fprintf (fp,"%e %e %e\n",max[j]-(base/1000),arealj],base / 1000);
if(j%100 == 0) printf("%d\n",j);

}
fclose(fp);

printf ("DONE!!! to %d\n",j);
3

5.14 data0000O00ODOOO0OO0OOOOODOOOOO
{
#include<fstream.h>
#include<math.h>
#include<time.h>
gROOT->Reset () ;
int h,i=0;
double x,y,z,c,c2;
c =1.003311;
c2 =0.001382552;
TCanvas *cl =new TCanvas("cl","pulseheight-areaintegral");
c1->Divide(2,2);
TNtuple *nl =new TNtuple("alp_cal","nl","x:y:z");

ifstream deta("alp_hist.dat");

while(deta>>x>>y>>z)n1->Fill ((x*c)+0.8601651, (y*c2)+1.726739,z);

o1



deta.close();

cl->cd(1);

n1->Draw("x>>PulseHeight (256,0,)");
PulseHeight->Draw() ;

cl->cd(2);

n1->Draw("y>>Arealntegral (512,0,)");
Arealntegral->Draw();

c1->cd(3);
nl->Draw("x:y>>pro(2048)");

cl->cd(4);
nl->Draw("z>>base(256)");

cl.cd(1);

HEN
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